O ol (il )5 (990 3T (wnadti Colw g Sy

J S o8

T04A

A

{Feoo JLH_ J?'é is.usgb ﬁ)“sﬂuju @'ﬁb}jé BS993 UjﬁjT

’ v #.0g, g0 Ll Lo doi FiLol HRLS1 ST
M (o) i

ol gl ol (g hnsr
5908 g ol \pgle wjl3s

|
T

1348 sl faiw plejle

‘ (NFY W) o glin I

aiaBs Yo 1 o8 Frmly oo Vo 1 laae olows

¥ 8 ylouds 3 Hurti o, Sloiol Slga ylgie

Sleatn U | Spte 51 | oo Slass (silomiel slga i,
e L i (Al 3 IS} el g e ges L) !
B T ¥ Gednd gle ey g kel ¥
v- & ¥ ibenaly g ogalie gilee r
A ¥ ¥e ayglicn 3 (gilednl) (ysid g Lo gy ¥
T Al Te Pleolyy a0 sgbie glady Hhi &
. " e eygliue 53 Jlyy slegesl 2,8 F
Y 1 1 RUPE S 0 P ¥

i 3l b il 3 aoliil B0 B B ped el onl

R R I e IR R e e e R e e R R R R R R
A RA R R R R R R el el e e e e R R R R

gt Wb Sty e ot b el s Sme b e ! o0 b i el 3 iR Lyt el 1 98 3T S 18 1 31t e S0 IT) Lt g8 0 S Sl 0 il




O ol (il )5 (990 3T (wnadti Colw g Sy

Y anie 7044 (FT) o5 = 0 y5kiee

] 55031 dendr 30 Lowtr joue puie e S Janer Dl s 5o Ldel g Silastdon 50 pue el 55 dbogls

13998 Jows b kel ogoledy ol @L‘fl B P L T P il
Zad Jd oS g fob an¥lpw Ao B0 5 anlifnwl YL wdeder 4 5958 <yl YL 0 makie dbale alead b
tlod oo aarl 1y ldaligaly (il 9 ©¥lgas & 1253 gy o oo

el o e} i’ g rogoss 5l

PART A: Vocabulary
fhrections: Choose the word or phrasc (1), (2), (3), or (4) that best complctes cach senfence.
Then mark the correct choice on your answer sheet.

- I-——- the argument because I didn’t know enough about the subject.
1) depicied 2) confronied 3) dropped 4) breached

2-  Because my husbuand is a --—-—--—-——- suppuorter of the high schoul football team, he donates
money to their organization every yvear.
1) vcalous 2) anomalous 3) reeeplive 4) successive

3-  Since the journey is --—-------, be sure to bring a first-aid kit.
1) couragecous 2) cautious 3) ecnormous 4) perilous

4-  The writer's stories appeal to a wide range of people—young and old, ---------- and poor,
literary and nonliterary.
l) economical 2} financial 3) aftluent 4) elite

5-  His nostalgie -—--—--——-- of growing up in a small city are comical, though they are perhaps
embellished for comic effect.
[} impacts 2} accounts 3) entertainments  4) bibliographies

6-  On a chilly night, vou might like to curl up by the fireside and --------—- a cup of hot
chocolate while reading onc of Thurber’s books,
1) imbibe 2) amalgamate 3) relieve 4) fascinate

7-  Although Mr, Jackson was -——----—-, he attempted (o be jovial so that his collcagues a¢
the mecting wouldn’t think there was a problem.
1) unpretentious 2) painstaking 3) apprehensive 4) attentive

8-  Obviously the network is overreacting and engaging in ----—-—--—- when they say “535
million people are in danger!” for normal thunderstorms.
[} distinction 2) exaggeration 3) expectation 4) justification

9- My high school biology teacher loved to ---------- from scienee into personal ancedotces
about his collcge adventures,
1) evolved 2) converted 3) reversed 4) digressed

10- Landing a planc on an aireraft carricr requires a great deal of -—-—--—- , as ¥ou can crash
if you miss the landing zonc by cven a little bit,
1) precision 2) innovation 3) superiority 4) variability



O ol (il )5 (990 3T (wnadti Colw g Sy

¥ ddo 7044 (FT) o5 = 0 y5kiee

PART B: Cloze Test

Directions: Read the fellowing passage and decide which choice (1), (2}, (3}, or {(4) best fits each
space. Then mark the correct choice on vour answer sheet.

For some time now, medical scientists have noted an alarming increase in diseases of
the heart and circulation among people who smoke cigarettes. (11) --=---nm-- in the
bloodstream causes blood vessels to contract, thus (12) -—---—-- circulation, which
cvenlually leads 1o hardening ol the arlerics, (13) --—--e-mm- the arterics stillen, less
blood reaches the brain, and the end result of this slowdown is a cerebral hemorrhage,
commonly (14) -——--—--- (o as a “streke™, In addition, (15} --——--—- reduces the ability
ol the hemoglobin to release oxygen, resulting in shoriness of breath,

11- 1) The presence of tobaceo is found
2} The presence of tobacco it is found
3) To be tound the presence of tohacco
4) 1t has been found that the presence of tobacco

12- 1)slows 2) to slow 3) slowing 4) 1t slows
13- 1)So 2V As 3) Afterwards 4) Due to
14- 1) referred 2) that referred 3) referring 43 it is referred
15- 1) bloodstream’s tobacco 2) the tobacco 1 bloodstream it
3) tobacco in the bloodsiream which 4) obacco in the bloodstream

PART C: Reading Comprehension

Dircctions: Read the following three passages and answer the questions by cheoasing the
best chaice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

It vou are worried that vou or aloved one may have borderline personality
disorder (BPD)), it is important 10 be informed about the illness and its svinploms.
Whilc some ol the symploms of BPLD) are notl casily identilied, others are associaled
with obscrvable behaviors,

Borderline personality disorder symptoms include instability in interpersonal
relationships, self-image, and emotion, as well as a pattern of impulsive behaviors. People
with BPD) otten first experience these symptoms in young adulthood and the symptoms
tend to continue for many yvears. B3PI may occur in hoth men and women. The following
signs and svinptoms may indicate a need to be evaluated by a healtheare professional.

I’eople with BI’D tend to have difficulties in their relationships. ln particular,
people with BPD can be very sensitive to abandonment. They may believe thev are
being left by someone when that is not actually the case at all. Since the fear of
abandonment can be so strong and pervasive. people with BPD olicn engage in
bchaviors meant o provide reassurance that the other person siill cares aboul them.
For cxample, they may call someone repeatedly asking for conlirmation that the
relationship is suill intact, or physically cling (o others when they atlempt 1o Icave,
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Untortunately. this scenario can be a double-edged sword. The more a person seeks
reassurance that their relationship with another 1s "sate.” the more likely they are to
push that person away, sabotaging themselves in the process.

What doces the passage mainly discuss?

1) How BPD can be cured

2) What the causcs o BPD are

3) Why BPD cascs avoid therapy

4) What thosc sullering [rom BPD expericnce

Which of the following statements about the symptoms of BPD is suppourted by the
infurmation in the passage?

1) They first appear in ¢arly childhood,

2) Some ol them can hardly be recognized.

3) All BPD cases are symptom tree.

4) Their identification does not guarantee cure.

Which of the following is supported by the information in the passage?
1) People with BP[D are not clingy at all.

2) BI’D is not exclusive to one gender.

3) People with BI’D tend to abandon others.

4) BPD is a disorder that bewilders health professionals.

[t is implicd in the passage that BPIY cases may -—-——-——-,

1) have a moral dilenuna

2) have problem deciding on a career

3) be willing 1o raise their awareness ol BPD

4) be under the illusion that someong is leaving them

Which of the following best defines the phrase “a double-edged sword” in the last
paragraph?

1) A relationship in which both partners (el unsalc

2) A situation in which somcong sabotages themselves

3) A siluation having both positive and negative cllects

4) A relationship in which a person 1s attached to their partner

PASSAGE 2:

There is a great concern in Furope and North America about declining standards of
literacy 1n schools. In Britain, the fact that 30 per cent of 16 year olds have a reading
age ot 14 or less has helped to prompt massive educational changes. The development
of literacy has far-reaching effects on general intellectual development and thus
anything which impedes the development of literacy 1s a serious matter for us all. So
the hunt is on for the cause of the decline in literacy. 'l'he search so far has focused on
socioeconomic factors, or the effectiveness of 'traditional' versus 'modern’ teaching
techniques.

The Iruitless scarch lor the causc ol the inercase in illiteracy 1s & tragic example ol
the saving They can't sce the wood lor the rees’. When (cachers use picture books,
they are simply comtinuing o long-cstablished tradition that s accepted without
question. And for the past two decades, illustrations in reading primers have become
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increasingly detailed and obtrusive, while language has become impoverished
sometimes to the point of extinction.

Amazingly, there is wvirtually no empirical evidence to support the use of
illustrations in teaching reading. On the contrary. a great deal of empirical evidence
shows that pictures interfere in a damaging way with all aspects of learning to read.
Despite this, om North Amcrica lo the Antipoedes, the lirst books that many school
children reecive arc Lotally without text.

What does the passage mainly discuss?

1) Modcrn and traditional recading styles

2) The deeline in reading levels in two specilic places

3) Rescarch carricd out on (cachers™ perlormance

4} [iteracy and short-term educational changes in Europe and North America
The word “prompt” in paragraph 1 is closest in meaning to --------—--,

[} cause 2) accur 3) showw 4y introduce
According to the passage, anyvthing that stops the development of literacy is important
for them all because the development of literacy ----—---- .

1) helps improve teaching techniques

2) depends on socioeconomic factors

3) and general intellectual functioning happen more rapidly in certain children

4) greatly influences children’s general ability to think and reason

According to the passage, that illustrations in books can help children to learn to read

1) is not supported by science

2) 1s accepted by a few teachers

3) docs not need (o be rescarched

4) is bascd on a well-known cducational theory

It is suggested in the passage that pictures ----—---—--,
1) in booky should be more detailed

2) can slow down rcading progress

3) help children experience rich language

4} can discourage children from attending school

PASSAGE 3.

Hormone levels — and hence our moods — may be affected by the weather. Gloomy
weather can cause depression, but sunshine appears to raise the spirits. In Britain., for
example. the dull weather of winter drastically cuts down the amount of sunlight that
15 experienced which strongly affects some people. They become so depressed and
lacking in energy that their work and social life are affected. 'T'his condition has been
onen the name SAD (Seasondl Aﬂeutne leorder) Suf]‘_eretb can fight back by

special, [ull-spectrum lc.ung These provide more uliraviolet and bluugruun ll“hl than
ordinary luorescent and (ungsten lights, Some Russian scicntisis ¢laim that children
lcarn betier alier being exposcd 1o ultraviolet light. In warm countrics. hours of work
arc ollen arranged so thal workers can take a break, or even a siesta, during the hotlest
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part of the day. Scientists are working to discover the links between the weather and
human beings’ moods and performance.

It is generally believed that tempers grow shorter in hot, muggy weather. There is
no doubt that 'crimes against the person’ rise in the summer. when the weather 1s hotter
and fall in the winter when the weather is colder. Research in the United States has
shown a rclationship belween temperature and street riots. The [requency ol riols riscs
dramatically as the weather gets warmer, hilling a peak around 27-30°C. Bul is this
clicetl really duc 10 a mood change causcd by the heat? Somece scicnlists arguc that
trouble starts more ofien in hol weather merely because there are more people in the
gireet when the weather is good.

What does the passage mainly discuss?

1) [lormone levels in general

2) Difterent categories of SAD

3) The weather and certain age groups

4) T'he link between tempers and temperatures

Which of the following best deseribes the funetion of the underlined sentenec in paragraph 17

1) It deseribes ways of reducing the effects of SAD.

2) It defines a terin discussed in the previous sentence.

3) It explains how SAD sutferers spend most of their time.

4) It compares and contrasts sunlight and full-spectrum lamps.

There is enough information in the passage to answer which of the following questions?

1) How cllicient are workers in warm countrics?

2) Why do the British preler the dull weather of winter?

3) Whal cxperiment did some Russian scicniists conduct to challenge a previous linding?

4y Why do some Russgian scientists think that children should be exposcd Lo ultraviolet
light?

Which of the following best describes the writer’s attitude towards the idea that crimes

against the person rise in the summer and fall in the winter?

1) Certain 2) Skeptical 3) Amazed 4) Concerned

It is implied in the last sentence of the passage that the occurrence of more trouble in hot

weather —-------—- ;

1) should not be argued by scientists any longer

2) is because of the presence of more rioters on the streets

3) may not really be a result of a mood change caused by the heat

4) is definitely because of hormonal changes which result from high temperatures
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